	oppervlakte = A

	rechthoek
	A=lengte x breedte
	A= l · b

	driehoek
	A= 0,5 x basis x hoogte
	A= 0,5 · l · b

	vierkant
	A= zijde x zijde
	A= z2

	parallellogram
	A= basis x hoogte
	A= b · h

	cirkel
	A= π x straal x straal
	A= π · r · r

	bol
	A= 4π x straal x straal
	A= 4π · r · r

	kegelmantel
	A= π x straal x a (=schuine zijde kegel)
	A= π · r · a (=schuine zijde kegel)

	omtrek = O

	cirkel
	O= π x diameter
	O= π · d

	diameter = d

	cirkel
	d= omtrek : π
	d= O : π

	straal = r

	cirkel
	r= diameter : 2
	r= d : 2

	inhoud = I

	balk, prisma, cilinder
	I= oppervlakte grondvlak x hoogte
	I= G · h

	piramide, kegel
	I= 1/3 · oppervlakte grondvlak x hoogte
	I= 1/3 · G · h

	bol
	I= 4/3 x π x straal3
	I= 4/3 · π · r3


